

PDF issue: 2025-04-20

A combinatorial proof of the weighted sum formula for finite and symmetric multiple zeta(-star) values

Murahara, Hideki

```
(Citation)
Kobe Journal of Mathematics, 38(1-2):73-81

(Issue Date)
2021-12
(Resource Type)
journal article
(Version)
Version of Record
(JaLCDOI)
https://doi.org/10.24546/E0042623
(URL)
https://hdl.handle.net/20.500.14094/E0042623
```



A COMBINATORIAL PROOF OF THE WEIGHTED SUM FORMULA FOR FINITE AND SYMMETRIC MULTIPLE ZETA(-STAR) VALUES

Hideki Murahara

(Received April 1, 2019) (Revised August 20, 2020)

Abstract

Hirose, Saito, and the author established the weighted sum formula for finite multiple zeta(-star) values. In this paper, we present its alternative proof. The proof is also valid for symmetric multiple zeta(-star) values.

1. Introduction

For positive integers k_1, \ldots, k_r with $k_r \geq 2$, the multiple zeta values (MZVs) and the multiple zeta-star values (MZSVs) are defined by

$$\zeta(k_1, \dots, k_r) := \sum_{0 < n_1 < \dots < n_r} \frac{1}{n_1^{k_1} \cdots n_r^{k_r}} \in \mathbb{R},$$
$$\zeta^*(k_1, \dots, k_r) := \sum_{0 < n_1 < \dots < n_r} \frac{1}{n_1^{k_1} \cdots n_r^{k_r}} \in \mathbb{R}.$$

We set a \mathbb{Q} -algebra \mathcal{A} by

$$\mathcal{A} := \left(\prod_{p} \mathbb{Z}/p\mathbb{Z}\right) / \left(\bigoplus_{p} \mathbb{Z}/p\mathbb{Z}\right),$$

where p runs over all primes. For positive integers k_1, \ldots, k_r , the finite multiple zeta values (FMZVs) and the finite multiple zeta-star values (FMZSVs) are defined by

$$\zeta_{\mathcal{A}}(k_1, \dots, k_r) := \left(\sum_{0 < n_1 < \dots < n_r < p} \frac{1}{n_1^{k_1} \cdots n_r^{k_r}} \bmod p\right)_p \in \mathcal{A},$$

$$\zeta_{\mathcal{A}}^{\star}(k_1, \dots, k_r) := \left(\sum_{0 < n_1 < \dots < n_r < p} \frac{1}{n_1^{k_1} \cdots n_r^{k_r}} \bmod p\right)_p \in \mathcal{A}.$$

The symmetric multiple zeta values (SMZVs) were introduced by Kaneko–Zagier [8]. For positive integers k_1, \ldots, k_r , we define

$$\zeta_{\mathcal{S}}^*(k_1,\ldots,k_r) := \sum_{i=0}^r (-1)^{k_{i+1}+\cdots+k_r} \zeta^*(k_1,\ldots,k_i) \zeta^*(k_r,\ldots,k_{i+1}) \in \mathbb{R}.$$

Here, the symbol ζ^* on the right-hand side means the regularized value coming from the harmonic regularization, i.e., a real value obtained by taking constant terms of harmonic regularization as explained in Ihara–Kaneko–Zagier [4]. In the sum, we understand $\zeta^*(\emptyset) = 1$. Let $\mathcal{Z}_{\mathbb{R}}$ be the \mathbb{Q} -vector subspace of \mathbb{R} spanned by 1 and all MZVs, which is a \mathbb{Q} -algebra. Then the SMZVs are defined by

$$\zeta_{\mathcal{S}}(k_1,\ldots,k_r) := \zeta_{\mathcal{S}}^*(k_1,\ldots,k_r) \bmod \zeta(2) \in \mathcal{Z}_{\mathbb{R}}/(\zeta(2)).$$

For positive integers k_1, \ldots, k_r , we also define the symmetric multiple zeta-star values (SMZSVs) by

$$\zeta_{\mathcal{S}}^{\star}(k_1,\ldots,k_r) := \sum_{\substack{\square \text{ is either a comma ","} \\ \text{or a plus "+"}}} \zeta_{\mathcal{S}}^{*}(k_1 \,\square \cdots \,\square \, k_r) \bmod \zeta(2) \in \mathcal{Z}_{\mathbb{R}}/(\zeta(2)).$$

Let \mathcal{Z}_A denote the \mathbb{Q} -vector subspace of \mathcal{A} spanned by 1 and all FMZVs. Kaneko and Zagier conjecture that there is an isomorphism between \mathcal{Z}_A and $\mathcal{Z}_{\mathbb{R}}/(\zeta(2))$ as \mathbb{Q} -algebras such that $\zeta_{\mathcal{A}}(k_1,\ldots,k_r)$ and $\zeta_{\mathcal{S}}(k_1,\ldots,k_r)$ correspond with each other (for more details, see Kaneko–Zagier [7, 8]). In the following, we use the letter \mathcal{F} stands for either \mathcal{A} or \mathcal{S} , e.g., the symbol $\zeta_{\mathcal{F}}$ means $\zeta_{\mathcal{A}}$ or $\zeta_{\mathcal{S}}$.

Hirose, Saito, and the author [2] proved the following weighted sum formula for FMZ(S)Vs. In this paper, we will give its alternative proof. Our proof is also valid for SMZ(S)Vs.

THEOREM 1.1. Let k be a positive integer, r a positive odd integer, and i an integer with $1 \le i \le r \le k$. Then we have

$$\sum_{\substack{k_1 + \dots + k_r = k \\ k_1, \dots, k_r \ge 1}} 2^{k_i} \zeta_{\mathcal{F}}(k_1, \dots, k_r) = 0,$$

$$\sum_{\substack{k_1 + \dots + k_r = k \\ k_1, \dots, k_r \ge 1}} 2^{k_i} \zeta_{\mathcal{F}}^{\star}(k_1, \dots, k_r) = 0.$$

Remark 1.2. We note that similar weighted sum formulas for MZVs are known (see Guo–Xie [1], Ohno–Zudilin [10], and Ong–Eie–Liaw [11]). Kamano [6] also obtained somewhat different weighted sum formulas for FMZVs.

2. Proof of the main theorem

2.1. Notation. An index is a sequence of positive integers, and we denote by \mathcal{I} the \mathbb{Q} -linear space spanned by the indices. Maps defined for indices, such as $\zeta_{\mathcal{F}}$, will be extended \mathbb{Q} -linearly. For an index $\mathbf{k} = (k_1, \ldots, k_r)$, the integer $k := k_1 + \cdots + k_r$ is called the weight of \mathbf{k} (denoted by wt(\mathbf{k})) and the integer r is called the depth of \mathbf{k} (denoted by dep(\mathbf{k})). We write $(\{1\}^m) = (\underbrace{1, \ldots, 1})$

for a nonnegative integer m. For indices $\mathbf{k} = (k_1, \ldots, k_r)$ and $\mathbf{k}' = (k'_1, \ldots, k'_r)$ of the same depths, the symbol $\mathbf{k} \oplus \mathbf{k}'$ represents the componentwise sum, i.e., $\mathbf{k} \oplus \mathbf{k}' := (k_1 + k'_1, \ldots, k_r + k'_r)$.

DEFINITION 2.1. For an index $\mathbf{k} = (k_1 \dots, k_r)$, we define $\phi(\mathbf{k})$ by

$$\phi(\boldsymbol{k}) := (-1)^r \sum_{\substack{\square \text{ is either a comma} \\ \text{or a plus "+"}}} (\underbrace{1 \, \square \, 1 \, \square \cdots \square \, 1}_{\substack{\text{the number of} \\ \text{"1" is } k_1}}, \dots, \underbrace{1 \, \square \, 1 \, \square \cdots \square \, 1}_{\substack{\text{the number of} \\ \text{"1" is } k_r}}) \in \mathcal{I}.$$

For example, we have $\phi(1,2,2) = -(1,2,2) - (1,1,1,2) - (1,2,1,1) - (1,1,1,1,1)$.

DEFINITION 2.2. For a nonempty index $\mathbf{k} = (k_1, \dots, k_r)$, we define Hoffman's dual index of \mathbf{k} by

$$\mathbf{k}^{\vee} = (\underbrace{1,\ldots,1}_{k_1} + \underbrace{1,\ldots,1}_{k_2} + 1,\ldots,1 + \underbrace{1,\ldots,1}_{k_n}).$$

For positive integers k, r, i with $1 \le i \le r \le k$, we set

$$F(k, r, i) := \sum_{\substack{k_1 + \dots + k_r = k \\ k_1, \dots, k_r > 1}} 2^{k_i - 1} \cdot (k_1, \dots, k_r) \in \mathcal{I}.$$

Throughout this paper, we always assume that e runs over sequences of non-negative integers. (Recall that an index is a sequence of positive integers.) For an index k and a nonnegative integer l, we also set

$$G_1(\boldsymbol{k}, l) := \sum_{\substack{\text{wt}(\boldsymbol{e}) = l \\ \text{dep}(\boldsymbol{e}) = \text{dep}(\boldsymbol{k})}} (\boldsymbol{k} \oplus \boldsymbol{e}) \in \mathcal{I},$$

$$G_2(\boldsymbol{k}, l) := \sum_{\substack{\text{wt}(\boldsymbol{e}) = l \\ \text{dep}(\boldsymbol{e}) = \text{dep}(\boldsymbol{k}^{\vee})}} (\boldsymbol{k}^{\vee} \oplus \boldsymbol{e})^{\vee} \in \mathcal{I},$$

$$G(\boldsymbol{k}, l) := G_1(\boldsymbol{k}, l) - G_2(\boldsymbol{k}, l) \in \mathcal{I}.$$

For example, we have $G_1((2,3),1) = (3,3) + (2,4)$. For positive integers k, r, i with $1 \le i \le r \le k$, we put

$$\begin{split} H(k,r,i) &:= F(k,r,i) \\ &- \left(\sum_{l=1}^{k-r-1} 2^{l-1} G((\{1\}^{i-1},l+1,\{1\}^{r-i}),k-r-l) + G((\{1\}^r),k-r)\right) \in \mathcal{I}. \end{split}$$

2.2. Proof of Theorem 1.1. To prove Theorem 1.1, we use Theorems 2.3 and 2.4, and Lemma 2.5.

Theorem 2.3 (Hoffman [3], Jarossay [5]). For an index k, we have

$$\zeta_{\mathcal{F}}(\mathbf{k}) = \zeta_{\mathcal{F}}(\phi(\mathbf{k})).$$

The following relation for FMZVs and SMZVs was conjectured by Kaneko and established by Oyama [12].

Theorem 2.4 (Oyama [12]). For an index \mathbf{k} and a nonnegative integer l, we have

$$\zeta_{\mathcal{F}}(G(\boldsymbol{k},l)) = 0.$$

LEMMA 2.5 (Key lemma). Let k be a positive integer, r a positive odd integer, and i an integer with $1 \le i \le r \le k$. Then we have

$$H(k,r,i) + \phi(H(k,r,i)) = \begin{cases} (\{1\}^k) & (k: even), \\ 0 & (k: odd). \end{cases}$$

To prove Lemma 2.5, we need Lemmas 2.6 and 2.7.

LEMMA 2.6. Let k, r be positive integers and i an integer with $1 \le i \le r \le k$. Then we have

$$F(k,r,i) - \left(\sum_{l=1}^{k-r-1} 2^{l-1} G_1((\{1\}^{i-1}, l+1, \{1\}^{r-i}), k-r-l) + G_1((\{1\}^r), k-r)\right)$$

$$= 2^{k-r-1} (\{1\}^{i-1}, k-r+1, \{1\}^{r-i}).$$

PROOF. We note that the depths of all the indices on the left-hand side are r. Put

$$A := \sum_{l=1}^{k-r-1} 2^{l-1} G_1((\{1\}^{i-1}, l+1, \{1\}^{r-i}), k-r-l) + G_1((\{1\}^r), k-r).$$

Fix an index $(a_1, \ldots, a_i, \ldots, a_r)$ of weight k and depth r. Since the number of indices $(a_1, \ldots, a_i, \ldots, a_r)$ included in A is

$$\begin{cases} \sum_{l=1}^{a_i-1} 2^{l-1} + 1 = 2^{a_i-1} & (1 \le a_i \le k - r), \\ \sum_{l=1}^{k-r-1} 2^{l-1} + 1 = 2^{k-r-1} & (a_i = k - r + 1), \end{cases}$$

we find that all the indices appeared in F(k, r, i) and A are same except for $2^{k-r-1}(\{1\}^{i-1}, k-r+1, \{1\}^{r-i})$. Thus we find the result.

LEMMA 2.7. Put $\Phi(I) := I + \phi(I)$ for $I \in \mathcal{I}$. Let k be a positive integer, r a positive odd integer, and i an integer with $1 \le i \le r \le k$. Then we have

$$\begin{split} &\Phi\Bigg(\sum_{l=1}^{k-r-1}2^{l-1}G_2((\{1\}^{i-1},l+1,\{1\}^{r-i}),k-r-l)+G_2((\{1\}^r),k-r)\Bigg)\\ &=\begin{cases} -2^{k-r-1}\Phi(\{1\}^{i-1},k-r+1,\{1\}^{r-i})+(\{1\}^k) & (k:\ even),\\ -2^{k-r-1}\Phi(\{1\}^{i-1},k-r+1,\{1\}^{r-i}) & (k:\ odd). \end{cases} \end{split}$$

Proof. Put

$$B := \sum_{l=1}^{k-r-1} 2^{l-1} G_2((\{1\}^{i-1}, l+1, \{1\}^{r-i}), k-r-l) + G_2((\{1\}^r), k-r),$$

$$C := -2^{k-r-1} \Phi(\{1\}^{i-1}, k-r+1, \{1\}^{r-i}).$$

Then we have

$$B = \sum_{l=1}^{k-r-1} 2^{l-1} \sum_{\substack{\text{wt}(e)=k-r-l\\ \text{dep}(e)=l+1}} (((i,\{1\}^{l-1},r-i+1) \oplus e)^{\vee}) + (\{1\}^{k})$$

$$= \sum_{l=1}^{k-r-1} 2^{l-1} \sum_{\substack{k_1+\dots+k_{k-r-l+1}=k-r+1\\ k_1,\dots,k_{k-r-l+1}\geq 1}} (\{1\}^{i-1},k_1,\dots,k_{k-r-l+1},\{1\}^{r-i}) + (\{1\}^{k}).$$

Fix an index $(\{1\}^{i-1}, a_1, \ldots, a_d, \{1\}^{r-i})$ of weight k and depth d+r-1 with $2 \le d \le k-r$. Then the numbers of indices $(\{1\}^{i-1}, a_1, \ldots, a_d, \{1\}^{r-i})$ included in B and $\phi(B)$ are, respectively,

$$2^{k-r-d}$$
 and $\sum_{l=k-r-d+1}^{k-r-1} 2^{l-1} \cdot (-1)^{k-l} \cdot {d-1 \choose k-r-l}$.

We have

$$\begin{split} &2^{k-r-d} + \sum_{l=k-r-d+1}^{k-r-1} 2^{l-1} \cdot (-1)^{k-l} \cdot \binom{d-1}{k-r-l} \\ &= 2^{k-r-d} + 2^{k-r-d} \cdot (-1)^{r+d+1} \cdot \sum_{l=0}^{d-2} (-2)^l \binom{d-1}{l} \\ &= 2^{k-r-d} \cdot (-1)^d \cdot \left((-1)^d + \sum_{l=0}^{d-2} (-2)^l \binom{d-1}{l} \right) \quad \text{(by r: odd)}. \end{split}$$

Since

$$(1-2x)^n = \sum_{a=0}^n (-2x)^a \cdot \binom{n}{a},$$

we have

$$\sum_{l=0}^{d-2} (-2)^l \binom{d-1}{l} = (-1)^{d-1} - (-2)^{d-1}$$

by substituting x = 1, a = l, and n = d - 1. Thus we get

$$2^{k-r-d} + \sum_{l=k-r-d+1}^{k-r-1} 2^{l-1} \cdot (-1)^{k-l} \cdot \binom{d-1}{k-r-l}$$

$$= 2^{k-r-d} \cdot (-1)^d \cdot ((-1)^d + (-1)^{d-1} - (-2)^{d-1})$$

$$= 2^{k-r-1}.$$

Similarly, the number of indices $(\{1\}^k)$ in $B + \phi(B)$ is

$$1 + \sum_{l=1}^{k-r-1} 2^{l-1} \cdot (-1)^{k-l} \cdot \binom{k-r}{k-r-l} + (-1)^k$$

$$= 1 + \frac{1}{2} (-1)^k \sum_{l=1}^{k-r-1} (-2)^l \binom{k-r}{l} + (-1)^k$$

$$= 1 + \frac{1}{2} (-1)^k ((-1)^{k-r} - 1 - (-2)^{k-r}) + (-1)^k$$

$$= 2^{k-r-1} + \frac{1}{2} (1 + (-1)^k) \text{ (by } r: odd)$$

$$= \begin{cases} 2^{k-r-1} + 1 & (k: \text{ even}), \\ 2^{k-r-1} & (k: \text{ odd}). \end{cases}$$

Then we find

$$B + \phi(B)$$

$$= \sum_{d=2}^{k-r} \sum_{\substack{a_1 + \dots + a_d = k - r + 1 \\ a_1, \dots, a_d \ge 1}} 2^{k-r-1} (\{1\}^{i-1}, a_1, \dots, a_d, \{1\}^{r-i})$$

$$+ \begin{cases} (2^{k-r-1} + 1)(\{1\}^k) & (k: \text{ even}), \\ 2^{k-r-1} (\{1\}^k) & (k: \text{ odd}). \end{cases}$$

On the other hand, by the direct calculation, we have

$$C = \sum_{d=2}^{k-r+1} \sum_{\substack{a_1 + \dots + a_d = k-r+1 \\ a_1 \dots a_d \ge 1}} 2^{k-r-1} (\{1\}^{i-1}, a_1, \dots, a_d, \{1\}^{r-i}).$$

This finishes the proof.

Proof of Lemma 2.5. By Lemmas 2.6 and 2.7, we easily find the lemma holds. $\hfill\Box$

PROOF OF THEOREM 1.1 (The first statement). By Theorems 2.3 and 2.4, and Lemma 2.5, we see the theorem holds. \Box

Now we prove the second statement of Theorem 1.1. We can prove this in the same manner as in Hirose–Murahara–Saito [2]. The following formulas are well known (see, e.g., Sakugawa–Seki [13]).

LEMMA 2.8. For positive integers k_1, \ldots, k_r , we have

$$\sum_{l=0}^{r} (-1)^{l} \zeta_{\mathcal{F}}^{\star}(k_{1}, \dots, k_{l}) \zeta_{\mathcal{F}}(k_{r}, \dots, k_{l+1}) = 0.$$

Here, we understand $\zeta_{\mathcal{F}}(\emptyset) = \zeta_{\mathcal{F}}^{\star}(\emptyset) = 1$.

PROPOSITION 2.9 (Hoffman [3], Murahara [9]). For positive integers k_1, \ldots, k_r , we have

$$\sum_{\sigma \in \mathfrak{S}_r} \zeta_{\mathcal{F}}(k_{\sigma(1)}, \dots, k_{\sigma(r)}) = 0,$$
$$\sum_{\sigma \in \mathfrak{S}_r} \zeta_{\mathcal{F}}^{\star}(k_{\sigma(1)}, \dots, k_{\sigma(r)}) = 0,$$

where \mathfrak{S}_r is the symmetric group of degree r.

PROOF OF THEOREM 1.1 (The second statement). By Lemma 2.8, we have

$$\sum_{l=0}^{r} (-1)^{l} \sum_{\substack{k_1 + \dots + k_r = k \\ k_1, \dots, k_r > 1}} 2^{k_i} \zeta_{\mathcal{F}}^{\star}(k_1, \dots, k_l) \zeta_{\mathcal{F}}(k_r, \dots, k_{l+1}) = 0.$$

By using the first statement of Theorem 1.1 and Proposition 2.9, we find the result. \Box

Acknowledgement. The author would like to express his sincere gratitude to Doctor Minoru Hirose, Takuya Murakami, and Professor Shingo Saito for valuable comments. He would also like to thank Doctor Masataka Ono for carefully reading the manuscript.

References

- L. Guo and B. Xie, Weighted sum formula for multiple zeta values, J. Number Theory 129 (2009), 2747–2765.
- [2] H. Hirose, M. Murahara, and S. Saito, Weighted sum formulas for multiple harmonic sums modulo primes, Proc. Amer. Math. Soc. 147 (2019), 3357–3366.
- [3] M.E. Hoffman, Quasi-symmetric functions and mod p multiple harmonic sums, Kyushu J. Math. 69 (2015), 345–366.
- [4] K. Ihara, M. Kaneko, and D. Zagier, Derivation and double shuffle relations for multiple zeta values, Compositio Math. 142 (2006), 307–338.
- [5] D. Jarossay, Double mélange des multizêtas finis et multizêtas symétrisés, C.R. Acad. Sci. Paris 352 (2014), 767–771.
- [6] K. Kamano, Weighted sum formulas for finite multiple zeta values, J. Number Theory 192 (2018), 168–180.
- [7] M. Kaneko, An introduction to classical and finite multiple zeta values, Publ. Math. Besançon, Algèbre et Théorie des Nombres 2019, Part 1, 103–129.
- [8] M. Kaneko and D. Zagier, Finite multiple zeta values, in preparation.
- [9] H. Murahara, A note on finite real multiple zeta values, Kyushu J. Math. 70 (2016), 345–366.
- [10] Y. Ohno and W. Zudilin, Zeta stars, Commun. Number Theory Phys. 2 (2008), 325–347.
- [11] Y.L. Ong, M. Eie, and W.-C. Liaw, On generalizations of weighted sum formulas of multiple zeta values, Int. J. Number Theory 9 (2013), 1185–1198.
- [12] K. Oyama, Ohno-type relation for finite multiple zeta values, Kyushu J. Math. 72 (2018), 277–285.
- [13] K. Sakugawa and S. Seki, On functional equations of finite multiple polylogarithms, J. Algebra 469 (2017), 323–357.

Hideki Murahara

Nakamura Gakuen University Graduate School

5-7-1, Befu

Jonan-ku, Fukuoka, 814-0198

Japan

E-mail: hmurahara@nakamura-u.ac.jp

Current address:

The University of Kitakyushu

4-2-1 Kitagata

Kokuraminami-ku, Kitakyushu

Fukuoka, 802-8577

Japan

E-mail: hmurahara@mathformula.page